Residual versus local y

~~ . :
% - :| =————@—— st_physics_5067038_raw_1040001.eventFC_60405.root ss (0,12]
g — !| =—@— st physics _5067038_raw_1040001.eventFC_60405.root ss (12,24]
S [ :
0 B e () St_phiysics_5067038_raw_1040001.eventFC_60405.root ss (24,36]
85004 e TS
B ;| =————@=—— st physics_5067038_raw_1040001.eventFC_60405.root ss (36,48]
0.02 b—i )i e e e, SN DU ST SR
I : : : : :
- s 8° : CFP e %
: ' [ " % [ XY . ‘
L : . Y v . ‘ i v. .“. ? °
0 IR D S f,\* ............................................. :., ....... ‘ ..................
g, 4]

20.02 i I— TN S—— — SR— I—

- I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1
0.04 60 80 100 120 140 160 180

Fri Dec 10 00:10:53 2004 Local Y




